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ohnfldchenberechnung nach DIN 283

gaustvp B 1.0K (gllt fur Haus 141/151 = 2 _Stiick) N s DR
ObergeschoB: : N g
Kind 3,82 x 3,735 = 14,27 x 0,97 = .- .13,84 '-
Kind - 4,635 x - 2,60 A ' :
o -'1,51 X - Os60 = 12,96 x ©,97 = 12,57 gn
' pusche 1,885 x 1,51 = 2,85 x 0,97 = 2,76 qu
Flur {i,885+3,025)x0,9%0 = - 4,42 x 0,97 = 4,29‘an
' : B .- 33,46 an
Erdgeschof: . s
¢ ‘che 3,635 x 3,615 . - w2, 8w o
o+ 1,34 x 0,61 = 13,96 i- 0,87 = 13,54 gn
EBraum L BePB5 x B.00 L ’
& 1,245 x 2,70 “Hs "By Tpm
- wfe 15365 8 3386 - - &= 12,78 'x° 0,97 = 12,40 o
Wehnen 5,395 x 3,76 g e
* 4+ 3,27 x 1,32
+ 2,70 x 0,24 2 - = ®
iof - 0 ¥ B 0,30 = T25 02 = ©y07 E= 24,27 gm
We 1,885 x 1,025 = 1,93 x 0,97 = 1,87 qn
Bad 3,365 x 2,53 DR : -
/. 0:30 x- 0,30~ = 8,42 x 0,97 = 8,17 an
Schlafen 4,18 x 3,635 . =,
¢ + - 3,27 x 0,24 . )
. T 57*) 29% 0,945 .
+ 1,265 x T,005 = 19,84 x 0,97 = 19,24 am
Piele 1,885 x 1,385 = 2,61 x 0,97 = - * 2,53 qm
Terrasse 15 gun x 1/4 = 3,75 gm
’ 5 ‘ 85,77 am
hohnkiache gesaMJ:*_ o ) a o
Obergeschos = 33,46 gm
Erdgeschos = 85,77 dm
Wohnflidche netto 116,23 gm
Nutzfliche: Keller 4,82 = 351 -
4,24 x  j,06
/. 2,80 x 0,24
@ 1,18 x 1,18
= 22,78 x 0,37 = 22,09 gm




